
 Name:___________________ 

Karo Buchberger (5/2009)   
http://vs-material.wegerer.at 

Die Dinos haben Aufgaben verschluckt. Finde die 
Ergebnisse heraus 
 
 

3 · 8 = ___ 
6 · 8 = ___ 
5 · 8 = ___ 
9 · 8 = ___ 
2 · 8 = ___ 

 
 
 
 
 
 
 
 
 

3 · 6 = ___ 

    8 · 6 = ___ 
4 · 6 = ___ 
6 · 6 = ___ 

 
 
 

 7 · 8 = ___ 
4 · 8 = ___ 

 8 · 8 = ___ 
1 · 8 = ___ 
  10 · 8 = ___ 

 
 
 
 
 



 Name:___________________ 

Karo Buchberger (5/2009)   
http://vs-material.wegerer.at 

 

Dino – Marathon 
 
               + 4                 + 9                - 7                  + 2                + 9                 - 8    
 
                         
 + 0                    + 6 
                   
 
 
  - 8                     + 4 
 
 
 
 
  + 2                     - 5 
 
 
 
 - 7                    + 3 
 
    + 1     + 9     - 6           + 5      - 4          - 9     
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